- =S
16
0 < ‘
4 N
o) U
3 ) ¢ m@z@ 1
e \\‘%}y WW‘ , 7 !
< S N
> X e
% .rg < A K,

o Yy £ o 9
5% N 5 - | Y ¢
W %m ¢ m
v ! ?;ﬂ. . N Maug ,efﬁj a
| i . S e v
A . ; o s

e N s ~ ~o <

,E..m ) m ~—” = - ! - m
= = RN >
{w W .ﬂ”w?J e T.gw jw -

‘ o 4= S q :m. v
J < g =
w a . Q.

s - e

Y v e | e ﬁ‘m 1 &
< < > w U U o 3

— Y 3 M. < $ =

X } W gwsnﬁ M L
H < ~%

< 0 >

M 'y o b
N 3 s =

L = J




1)3@516 e/ A Qﬁ"g\
13
v“'f f‘a é , . b §
o= ¥ los o d
54 e
<
(P, = %)
s bebore ;
. ¥ = ¢'cos
So
— : ] 1y
A - M i/ -\ V0
M~ ( “
I P N N} Qi\ i
Y ol
A 8 i H
Fnethey vector id%‘!"} Q.Sémef{#més Voo

4
Sovine {ZM? Le}w o giuﬁﬁwém:@c
PR Y B s e
A SR j = H
C
§
i«‘i\@e H 5 Qh}; .;sga f@éf%v“ QﬁJ

I
the sur bee ¢ +lo - = A% Uhee

i : e & = é;




-
(D
<D
= %
poS +
$ (v
¥ (15
Lo ; r~
X o . 12 N T
. pS \\WM Z WA b v
o s =
o i
-0 9 W oy ' v
Aﬁt‘ o ﬁ ...d B.w.ﬁ\ ” aﬂs ﬁf V, < 2!
ﬁ < - w . 2 - .%
Tt ~ T M, 2L ~ =
i ‘ ‘Nf Aﬁu X Z #,
§ > ]
1 7 Y T g —| -
8 L -
= | o T - .
{ o b
L Y )
- “ W i Y A if.ﬁ
e .ﬁ, J B 3] AM Q
.M. I sz.m m__, %w, i
. S . = - A
, A.ﬂ\ 1} @ gl ...Hd s
N, - N £ o
e << b f
¥ 3 &f
0 =




izsiki‘w Hond E;LE, &,{ amév&%V - C§f} Qvﬁ ey
@“g 1‘;%;\}? i"\mi Iw ﬂ'\e, f&if§é«€‘?§ﬁ ) :Zj f’é A
? m{“% }'ﬁ o3 e ﬁ‘i |

= Du.rct vesolt ot conventiown

s ;9&5&{;}?’ ©

uf“ét;(’.é 1 ;\f*mé{S

?—Mi mg\‘ ‘ '

D oole  Fleld
N //,-- im
- AN
e e

N




t}( MG,J e) e | em%;@’ ﬂf‘"‘@%%’ vop *{?i??@ae
5{5 fﬁéms g
4
- X
/ >\ z éu%‘agpajé
V. >
\
T
A!‘i; éeﬁ.e} m o= m L, RH
m= mR* T
;‘;‘f = p‘z 2
WANN g@neﬁai’ f?"% j‘g- sy %,Z fﬁ‘?
- ~ I
o Dy yg ey
?’5%5& oisﬁ? ﬁ\e A X1 Q{i ‘Hje féé 9
g = Z?’ifiﬁg 7 . }}‘F ;?& g
2




:b\jé fﬁag‘{“‘ ’Léé én} ﬁg ax ém |
§>€av f@éféﬁ‘
Y 2 »
E :" ﬂs u‘f — 2 &
2 (Rz.z%)
-3
. ‘UQI i< . 2\ E’\
- 2-a3 T &
"
= () =
ot I A +
%' £ e =
-3
A -
= r )
éz.i éﬂap Wad é}"xe; fae; f’lﬁasif}m’f <t A
!" ; el s
J £ i?L‘;/
&
{ A,
+7 Rd&
[
[o/%
VAL
d.
o
:




A A P
s b&C&-‘E) "V = Ksiab *ﬁ?é
— N R
N = SV = Rsm&w #
‘—’T %é“e» :‘*‘(’“QM‘S? ,i?\"}"s ;H\«\ SL’; > 5 o"g wdth RR4A6E
ﬁm}\-é. Cdffﬁv’t"%’ ,,’h *ﬁ(‘}tl\ S'Lf‘;t i.i"t:{juﬁ, ESS
> > P
dL = o w E*>:ﬁ§‘~1}§¢
TAQ ’?’ggﬁge‘“p f‘}ﬂt&g@\gv{%‘ &"Q’ '*5@&;\ éﬁéeé
dm = dTVA) = QT 7+ (Remb) "
dm = o K¥s,.°6 46
il
é‘ he Mom ew
. Janll w 4
M~§ { *-A‘iﬁ"* [ A6 d
" a0
- = 7 &{2%\ S n3B6d6
Ja
]
Al
-
= ﬁ 78] (2%
=S




